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clk li
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Active transactions are marked by a high strobe from the master
There does not need to be a low between active transactions
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* The master includes an address to identify which endpoint it is talking tc
* The master identifies read or write transactions with the “write” flag
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* Slaves signal end of transaction by raising “Acknowledge”
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* Slaves signal end of transaction by raising “Acknowledge”
* This may be tied to strobe if the slave responds instantly
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® Which means code generally ends

up looking like:

process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;
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process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;
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process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;
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process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then

Some reg <= 1ipb in.ipb wdata;

end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;
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process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;




i

O

process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;
ack <= '1";
end if;
end if;
end 1if;

end 1if;

end process;

ipb out.ipb err

ipb out.ipb ack <= ack;




i

O

process (ipb clk)
begin
i1f rising edge(ipb clk) then
ack <= '0';
if ipb in.ipb strobe='l' and ack='0"' then
if ipb in.ipb write='l' then
if ipb in.ipb addr(...) = Our addr then
Some reg <= 1ipb in.ipb wdata;
ack <= '1";
end if;

else

if ipb in.ipb addr(...) = Our addr then

ipb out.ipb rdata <= Some reg;

end if;
end if;
end 1if;
end 1if;
end process;
ipb out.ipb err <= '0’;

ipb out.ipb ack <= ack;
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